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M1 X 20138% A - M= 0iasSH & 3AHEZ LA NLE = A= FHON2 s 20 (ol M)
+ =2 Ng - HE0&tEN 2 Al Xt Bt N

g A 1,033,946,036 31,018,381
& B3 Al 882,874,499 26,486,235
SEE3A 151,071,537 4,532,146
SILSES A 94,469,810 2,834,094
AT ASSEIA 44,079,058 1,322,372
SSHL AL S E 3 1,388,213 41,646
St ALESE 3 A 49,002,539 1,470,076
JIEFSE3 56,601,727 1,698,052
FEALE SE A 76,425 2,293
HIOISHM2AEMSSES A 3,381,000 101,430
JIBIAE R E RS ESES 77,600 2,328
2SI =ELEdSER N 4,435,168 133,055
SANEEZAMASESN 32,442,600 973,278
Not=SE3 A 976,940 29,308
SsSNFAZLEALEZSA 1,132,910 33,987
SEHLAMESE SN 2,799,710 83,991
FENESE A 10,765,624 322,969
JIBFAIE S E 3 A 513,750 15,413

o2 = Ng - HZE olate SAls 88 "AY - ANZE olatn 20,

Mo 3 & 20138 AH=H AEE 28 "AHSHIEM"2 20
Mo 4 & 20138 XX £a st=9%2 10,900,000 @22 &HCt.
H 5 & B33 obdidl= 10,007,340 @ 22 &L,




